B RS 109 RFEK
RS- R R ]

#B 4% TRHE [RTAHELE]

—EEEFA -

£ XBFHE 100 o4&

FRALLSENAFENEE  ERFEE - e - L - 5 4h654
*%(%)z%%ﬁﬂ% 2 A~ ERF B AT EMS > ko ARE) S
PPifBE XA B RIE o

BZELRAE - ZEFERHPHITE -HRIET TEFHEE &
EERABEXTFRIR - R BER (F) ~ FECGRRTERE) - A
%%Wﬁma@ 5 AEFHETER  HEBEL -

EFHFUBLEL  RTERGER (%) B k8 2B&

ﬁ B RERSBECE MR R B ENBERE AR LA

Ak -

»é:‘i‘*rf (F) BRRFFERE > FTHIE - dORREBRAH ISR
NAREREFALL  BEERBRALEEMZIEMTXFRHA

gﬁu

'f%&ﬁ‘fﬁ-#ﬁaaﬁ{uﬁﬁa’é“ﬂﬁqﬁ AR e T R B
Z:#’J RRAFE T EA R T SR F o At i,ﬁi—’rﬁz%‘@%&‘iﬁ
%“i'(/\%ifiiﬁgﬁﬂ #ﬁ]ﬂﬂ (‘ﬁ‘ﬂﬁ‘fﬁﬁj\ ’fi‘%j%%% b %q_%’"ﬁ‘%) N\

%%

® HEREES () FHUHME  RYEIEZHBRUBHEHE -
o FNEHFEMIIE  BLEIRHEEHEEEE -
® ERABRARBESHREHE A FEHRIEIERE




B3 Lk 109 8 4 A 4 B - 348 4 £ BB

#FBLEHE TEE? [ELHLHE] %% - 435001
MKAEAABRMERE "I EAHER (BE - HERH) (FEF5HH) £18%18

1. (20%) Solve the following initial value problem, showing the details of your work.
y¥ +0.35y"" + 3.85y" + 1.4y" — 0.6y = 0
y(0) = 7.4125 » y'(0) = 0.51 » y"(0) = 0.849 » y"”(0) = —2.3831

2. (15%) Each of the two tanks contains 200 gal of water, in which initially 100 Ib (Tank T1) and
200 Ib (Tank T;) of fertilizer are dissolved. The inflow, circulation, and outflow are shown
below. The mixture is kept uniform by stirring. Find the fertilizer contents y1(t) in T1 and

y2(t) in Ta.

12 gal/min

(pure water)

3. (15%) Solve by the Laplace transform, showing the details of your work. y"" — 5y' 4+ 6y =
6u(t—1),y(0) =0,y'(0) =0

4. (15%) Find the Fourier transforms of f(x). Show details.

= if—1I<a<0

flx) =t 1, o<l
0, otherwise
el 1, 2
5. (a) (10%)Determine the inverse A™*of A=| 3 —1 1|.Show details.
-1 3 4

73 02 -3.7
(b) (10%)Find an eigenbasis and diagonalize of B = [—11_5 1.0 55 ] .Show details.
177 1.8 -9.3

2
z

e
6. (15%) Please integrate the function 22 (Z —1— l') over the given contour C, where C

consists of |z =2 (counterclockwise) and |z =1 (clockwise).
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7B WLE R (skin depth) 2 (5 40

g gk (dispersion) £ B LRAAAEAZERLBAESUNFL » AR EEARR)
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dispersion equation® FBPdfstEayFF EshEHEERFoN M A (@) =1+
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